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COMMERCE
[GENERIC ELECTIVE]

Course Code : BCOM-H-GE-T-4
Course Title : Indian Economics

Full Marks : 60 Time : 21 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
-1 WS 2sa et mis ¢
a)  Define 'dual economy'.
Tl weeife’s sicesl wie |
b)  Give an example of tertiary occupation.
TR AT (oT 9> TSIz WS |
c) Define 'disguised unemployment'.
‘AR (TG -9 AR W |
d)  Write the full form of NSSO.
NSSO-«= sjefmmol @14 |
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Define 'green revolution'.

e RAEE A e |

Define 'Operation Barga'.

“Te{lCs 951°R kel i |

What is 'consumption credit'?

‘i e e

In which year NABARD was established?

NABARD &I 92(F i zrfes 2

How many five year plans have been

implemented in India since independence?

FATOIR 217 (A OReIF Fosfe %P
g wolfe s e

Give two examples of MNCs.
MNCs-43 9i6 Swizze wie |
Define 'mixed economy'.
Tl weeife’s sicesl wie |
Write full form of BIFR.
BIFR-9% =" (=14 |

What is 'Plan holiday'?
‘il gib” =52

(2)



n) Define 'globalisation'.
G A< TG |
o)  Write full forms of WTO and IMF.
WTO @ IMF-43 sjefsmsiefer @14 |
Answer any four questions: 5%x4=20
@~ BrEfG e Ted wis ¢

a) Write briefly the limitations of green

revolution.
e RAEE SARweiefe] Jewe @4

b)  Write a short note on importance of public

sector in India.

OIS FABIE CFEd SF0ed Tod G Tifend
B @1

c)  Write major causes of poverty in India.

CIred wiwels ayie lRdefi @
d)  What are the demerits of foreign capital?
A I Ssfpiforasfer 6 e

e) What are the basic features of a developing

economy?

Gl TR Selfe o1 [@EESl [ e
f)  Discuss briefly 'Clark-Fisher Theory'.

A PGS O el
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Answer any two questions: 10x2=20
@-(FI K5 & T wis ¢

a)  Discuss the unemployment problem and the

measures taken to eradicate it in India.

SRR (@ PTG ©f AR G
AT (S FR( 0 FH |

b) Analyze the factors responsible for low

productivity of Indian agriculture.

ISR R T TesArerlereld Sl R
4|

c¢) Define 'industrial sickness' and throw light on

its causes.

W FACR @ e AR T FIRARR oA
HIETFAS 4 |

d)  Write short notes on:
A<FRe Bl (=12 ¢
1)  Co-operative farming and
AR B @R
i1) Land reforms

oSl FeHE
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